Logaritmos I

Resolver: (resuelve minimo los ejercicios nones)

plog,(x—=5)+log,(x+2)=3 ylog,(x—2)+log,(x+6)=2 3 Iog(x+x5)+ Iog(x—\E): 0

»log(x—1)+log(x+1)=0 5)log(x —1)—log(2x —11) = log 2

6log(3x—1)—log(x +5)=log5  7log,(x* —x)—log, x = log, 3 8);Iog(x2 +x—5)=1log5x + log 51x

9) ;Iog(x2 —4x —1): log8x —log4x 19 Iogg(5x + 3) = Iogg(7x - 5) 11) Iog£(3x —1) = Iog£(6x + 8)

2 2

1zlog, (x—1)log, x = log, x 13 l0g; xlog, (3x—2) = log, (3x - 2)

3 3 3

14log, (3x +1)log, x = 2log, (3x +1) 15)l0g ;(x—2)logs x = 2log,(x —2)



16) Iog(x2 —2x)=log?>0—1 17) Iog3(2x2 +x):log36—log32 18)log® x —3log x = 4

19log2 x—5log, x+6=0 20l0g,(x—2)+log,(x-3)=1
o1y 1095 (5—%)+1og,(~1-x)=3 15 log(x—2)+log x = log3
| | 4)=1 H
23) og%(x—l)+ og%(x+ )— og%6 24)Iog3x+loggx+logz7x:E
251003 X +10g 5 x+log, x=6 26109, x - log, x =4log, 2 onlog. x-log, x=9log, 3

3
28) Iog3(2—x2)—log3(— X)=0 2 Iog5(x2 —12)—Iogs(— X)=0 3qlog,-/x—3+log, /3x—7 =2

31) Iog(x + 6)— |Og x/m = |og 4



